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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry fwo marks. All questions of Paper-11 will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(ii1) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Economics
Paper 11

AT
gyutent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question carries
Two (2) marks. Attempt All questions.

AT : A1 TRAAehd THU TR (50) SgUERN TR fooidl oTRd. e GRAen g (2)

0 . W Y gredl.

1. ‘Determining people’s preferences | 1. ‘Tehr=A FaHTr=N FHAEONEEA = q9d
from observing their behaviour’ is a0’ ' o fagraEn STER TR
the basis of :

(A) wHeT fagr
(A) Indifference theory
(B) Marshallian theory (B) HRISTET 195
(C) Composite demand theory (C) wFF HrTofi=n fagr
(D) Revealed preference theory (D) Yehfed gudl fagr

2.  Marshallian demand analysis : 9. Hete™ AT fave -

(I) Assumes constant marginal (D YR o swEfar feer Tfea
utility of money. Bre

(II) Predicts unit price elasticity of (II) ‘== ArToit= fenma erafeehdl Th
demand for commodity. TS OfRd F4.

(A) (I) is correct but not (II) (A) (@) ==X 9 (1) et

(B) (II) is correct but not (I) (B) (II) SRR 90 (1) &

(C) Both (I) and (II) are correct (C) () o7 (I) SFar aeR

(D) Both (I) and (II) are wrong (D) O efor () <= TH

3 [P.T.O.



If production function exhibits
constant returns to scale the total
cost curve would be :

(A) Positively sloping linear
(B) Negatively sloping linear
(C) Positively sloping non-linear
(D) Negatively sloping non-linear

(I) Marginal rate of technical

substitution measures

curvature of an isoquant.

(IT) Elasticity of factor substitution
measures slope of an isoquant.

(A) (I) is correct but not (II)
(B) (II) is correct but not (I)
(C) Both (I) and (II) are correct
(D) Both (I) and (IT) are wrong

Suppose monopolist faces two
markets with different price
elasticities of demand at each price.
The marginal cost of production is
zero. The discriminating monopolist
in each market will charge prices
where elasticity of demand is :

(A) equal to 0
(B) equal to 1
C) >1
D <1
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(B) kU FeUddl B IO
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(D) 9 FeUidEl SR

(I) dif>rer HHMT 9o g0 FHsce

IR dghd<d | hidl.

(I1) STEMT YITHdl aidshal GH3G

SSRT=AT GeUIA HIYT Shid.
(A) O == qu (II) e
(B) (D =R 9ur (I) &t
(C) (@ emfor (D) < TR
(D) @ ewfor () =T <

TS HFgR= SF STSdrel qrToft
ISRl A eehdl Yodieh fohAdien f9=1 318

21| e | | T | ik o i o B o
319 gRfeedia feAdde ST AR
Jceh SISTRIG 3731 fohAd 3TeRiat fo 519

Ao fohAd rafesd .
(A) 0 318«

(B) 1 318

(C) 1 Y& S 318
(D) 1 Yanm AT A




Let long run marginal cost be
denoted by LMC and long
run average cost be denoted by
LAC :

I) If (LMC/LAC) < 1, then there

are economies of scale.

(II) If (LMC/LAC) > 1, then there

are diseconomies of scale.
(A) (D is correct but not (II)
(B) (II) is correct but not (I)
(C) Both (I) and (II) are correct
(D) Both (I) and (IT) are wrong
Which is not a correct prediction of
Cournot model ?
In equilibrium :
(A) Industry profits are maximum

(B) Profits of individual firms are

maximum

(C) The output is lower and price
is higher than under perfect

competition

(D) The output is higher and
price is lower than under

monopoly
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THST STeehTen | Br=r=n fesr LMC
el 3N SrefehTel= T @ fe9T
LAC H @hell, W :

(I) ST (LMC/LAC) <1 ™® 313'1=ITQ1%|"T
SRl A

(II) SR (LMC/LAC) > 1 T 3TIHMr=
YfdeRerdr 3T9d

(A) () SRR 9o (II) e
(B) ) SR o1 (I) A
(C) (@ emfor (I) <&t slisk
(D) @ efor () <= =

~ N ~

®Al gfaA= wed wifehd =R
™ ?
A

(A) I TR HEH STl

(B) oFfokiesh ST GX=T %1 HewH
Il

(C) ot Tasfien Seure AT SMfr fepwa
S 319d

(D) HeRIGRIUST 3cd1e S 271for fehud
HE AT

[P.T.O.



8.

10.

A utilitarian judges allocation by
their effect on :

(A) The worst off members of

society
(B)
(&),

The rich members of society
Multiplication of individual
utilities

(D) Sum of individual utilities

Suppose Y = 1000, transfers (T) =
200 and the tax rate (¢) = 0.20, the

disposable income would be :
(A) 1200
(B) 800
(C) 1000
(D) 1400

Suppose the economy is in

equilibrium in liquidity trap.
Government increases its
exogeneous investment by Rs. 1,000.
If the marginal propensity to
consume is 0.8, equilibrium income

would increase by :
(A) 1000
(B) 500
(C) 800
(D) 200

10.
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USR] HHIEAT=AT Seara FHaret a1
JreqT=AT BT @Ieite  qiomHT=1

AUR Ll :

(A) HHISTAIA dRdia il 8Iom

gRomm
(B) HHWNTAIAT $iHd iiehier IO qioms

(C) dafFdsr U= TOMRRIER

B gy

(D) iR SN SSIeR. B0

gRomm

st Y = 1000, T&Rd @ (T) =
200 O T T () = 0.20 3T, W
Td FHOIETY I WleAlddeh! hIvd

W ?

(A) 1200
(B) 800
(C) 1000
(D) 1400

que AdegTen qea=ar AT
THACIIT 3T d WHRA 3Tl dTed
TAaUs 1,000 T A Srede, S HHd
ITUNT X 0.8 T, W FHAIA T el

¢ Wellddeh! Ul & ?

(A) 1000

(B) 500
(C) 800

(D) 200




11.

12.

The basic assumption of classical

approach to determination of output

and employment is :

(A) Price flexibility and wage
rigidity

(B) Wage flexibility and price
rigidity

(C) Wage-price flexibility

(D) Wage-price rigidity

Under adaptive expectations, the
Phillips curve becomes vertical at the

natural rate of unemployment :

(A) In both the long run and the

short run

(B) In the long run but not in the

short run

(C) In the short run but not in the

long run

(D) Neither in the short, nor in the

long run

11.

12.
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TS

(A) wafaess fradl o et Asiee

(a)

(B) wafaeh Hs[ie o et fohHd]

(C) wrafaeh TSt 9 TR

(a)

(D) drR HsfieY & fehadi

WHNE™ &  (adaptive expecta-
tions) Tfedewrendl fwfaw = =
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13.

14.

According to the Cambridge
equation of demand for money, if
nominal GDP rises by 2%, the
money stock multiplied by velocity

must rise by :
(A) 1%
(B) 3%
©C) 2%
(D) 4%

Friedman’s demand for money
theory shows that the demand for
money declines as the ratio of
human to non-human wealth

increases because :

(A) It is easier to sell or purchase
human wealth than non-

human wealth

(B) It is easier to sell or purchase
non-human wealth than human

wealth

(C) It is easier to sell non-human
wealth than human wealth but

not to purchase

(D) It is easier to sell human wealth
than non-human wealth but not

to purchase

13.

14.
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(A) 1%
(B) 3%
(C) 2%

D) 4%
TReHA g Yem=n "R fagagaR
ST FUie S Wi ST
UK dTed STHaT UST=h |rTof wed
EJE8 I

(A)

et TUaie ERal-fash SHa8r
AT FUd=ar ©Ret-fasmt
STIRRIIE YoAH ST

SHME Ui ERel-fagh! TR
el Wocdi=ar  'Rel-famt
STIRRIIE YoAH ST

(B)

fa a
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fosniuan a9 e1{d T A
duciel  ©Rel  HEdl WU
TEOY SIS 3T

O Guie! fohl 9 Faai=
foashtaen gay d9d 9q HHE]
U=l @Rel STHME] Tl

WU 3EES qd

(©)

(D)




15.

16.

17.

Suppose currency is in the ratio 0.5
to deposits, reserve is in the ratio
of 0.25 of deposits and high powered
money is 1000, then the money

supply is :
(A) 2000
(B) 2500
(C) 1500
(D) 1800

Which one of the following is not

true in the simple Keynesian

model ?

(A) The equilibrium is unique
(B) The equilibrium is stable
(C) The equilibrium exists

(D) The equilibrium is constant

Which of the following is the most
essential feature of economic

development ?

(A) Physical expansion of output
(B) Investment

(C) Structural transformation

(D) Surplus balance of payment

15.

16.

17.
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AT I Al oI 0.5 a9

T Werd= SS9 JH0 0.25 ST o
SEAEE T SR 1000 3T, R UvEn

-~

IS TATAYH 3T

(A) 2000

(B) 2500

(C) 1500

(D) 1800

Su<q1 YTaHMTd @i S0

faum g @ ?

(A) A UhHS Al

(B) 9Harel feer s/an

(C) gHdia SIfRdead 319l

(D) HHAA 3T STl

Wciiedeh] 3Tfes farE STemeyash
Fao3Eh AU I ?

(A) SRR Hifas fawr

(B) TqeIh

(C) H=AHS qfiadH

(D) EER der SATTE

[P.T.O.



18.

19.

20.

Main focus of classical writers of
development was on

(A) Growth
(B) Redistribution
(C) Equity
(D) Trade

For the capitalist enterprise,
existence of disguised unemploy-
ment in the Lewis Model leads to
of labour.

(A) Unlimited supply

(B) Shortage of supply

(C) Freezing of real wages
(D) Increase in real wages

Match correctly concepts enlisted in
List I with its proponent from
List IT and choose the correct answer
from the codes given below :

List I List II
(1) Perfectly Elastic Supply (@) Harvey
of Labour Leibenstein

(2) Critical Minimum Effort

(3) Reserve Army of

(it) Arthur Lewis

(izi) David Ricardo

Unemployed

(4) Subsistence Real Wages (Gv) Karl Marx
Codes :

(1) (2) 3 (4)

A @) @ (iv) (117)

B) @ (i) () (111)

(C) @) @ €29) (iv)

D) @) (u11) (@) @

18.

19.

20.
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(A) 3:|1:|€|i\§'ﬂ qadl

(B) YRaSHT= HHA

(C) ar&afass AS TSaufteh{

(D) arEafas Hsid a6

Tt 1 g footesn deheunret 9t 11
Tey gRIfaeiedn a1 Hheqqr=a ST
I Slre e oo Ay SR oo
Gehamyd faer :

T 1 TE 10
(1) sfHept=n qEeT quidan () @ fafafe
NEIEEY
(2) =an feorfeshel 9ae (i) 3R Afad
(3) SRISFIR=N Tr@fta &0 Gii) efeee Rehre
(4) frate arfas Al Gv) e A
Hehdieh :
(1) (2) (3) (4)
A @) @ @(iv) (i1)
B @ €22) @iv) (i1)
(C) () @ €22) (iv)
D) @) €279) @iv) @
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21. What is not true regarding the Solow |, 21. Hicll FIGAGAG! Jgt TfTHMAT HeHid
Neo-classical Growth Model ? Greffeiieh! IO oe T AR ?
(A) Substitution between labour (A) ot Afor g Al FafFd=h

and capital is possible Tl
(B) Labour and capital are subject (B) 5 SV ATETA=N Foe ST e
to increasing returns A & e
(C) It is more suited to de'veloped © ST 3;&%_ A
economy than developing one sier i "
. . (D) fafay am ! B ST
(D) It is basic framework for stu.dy I S A FOATES G
of convergence across countries e
22. Th h ian devel t 3 he "
- e-Sc umpeterian developmen 99, EE T e
implies .............
.. AR :
(A) rise in real wages of workers
(B) achieving and maintaining of (A) HHHTAT TR WA 1S
full-employment level in the (B) 31eferaedd qui ISR &R 9T
economy ®&A dl fesed a0
(C) growth along with qualitative ..
changes in the economy (C) AT ST FHoIT TINHF: A
(D) acceleration in the factor
productivity (D) ¥ SAGHAA I QO
23. The main focus of the 12th Five Year 93. 125 UwAE ARl U@ R
Plan of India is ............. N -
GAlTYeh! hIMEX il ?
(A) work, food and equity
A) &M, T4 3 FHEd
(B) employment, efficiency and &)
sustainability (B) TSR, shrderar AT Smeet
(C) equity, efficiency and self (C) THMAT, FEemar s e
reliance
(D) faster, more inclusive and D , ST TR XiRad
sustainable growth gLl
11 [P.T.O.



24. The effective rate of taxation is a

25.

ratio of :

(A) tax revenue collected to the tax

base

(B) total revenue to gross domestic

product
(®)

current revenue to the tax base

(D) non-tax revenue to the total

expenditure

The 14th Finance Commission is
constituted under the Chairmanship

of :

(A) Dr. Sudipto Mundle

(B) Dr. Y.V. Reddy

(C) Dr. Kaushik Basu

(D) Dr. Raghuram Rajan

DEC-11213/11

24. Y9El T T WIS

25.

AN

(A) T YRR X HAEgA Il

THIOT

(B) U IqATN THU HgYATH

THIT

(C) s STHNRN <le] HeHr= YHII

~

ch{TiX

(D) THU T Heqdr

THTOT

et fox STERT=N TTOAT homeA

FAGFAETC el AR ?
(A) =l gl Hed
(B) . 9. =I. Yge!
(C) =f. =ifer® &Y

(D) . TEH qSH
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26.

27.

28.

The excess of expenditure excluding

interest payments over revenue

(A) Current Account Deficit
(B) Effective Revenue Deficit
(C) Primary Deficit

(D) Revenue Deficit

The enormous amount of tax

expenditure :

(A) increases effective rate of taxes
(B) increases rate of taxes

(C) reduces rate of interest

(D) reduces effective rate of taxes

According to whom the least
aggregate sacrifice is superior

principle of tax distribution ?
(A) Musgrave R.A.

(B) Solow R.M.

(C) Seligman E.R.

(D) Pigou A.C.

26.

27.

28.
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SIS SO oS STl Ufgciell ©d SR

HEYCITaET SfARe 3T8el, T o SAfafier

(A) =] Wi 2

(B) grel Hegell e
(C) wafHeh e

(D) H&gall

(A) JYE ST ST Gl

(B) =T € el

(C) =AST=N € HHE! Bl

(D) YaTet Sh{=m S ShHT BIdl

RO Hd 3TeUdH THU AN 7

U™ HaH d@ 3 ?
(A) 79U AT
(B) Hrell 3TL.TA.
(C) Hfer d 3.31R.

(D) firy T

13
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29.

30.

A wide gap between the ratio of non-
debt receipts to Gross Domestic
Product and the ratio of total
expenditure to Gross Domestic
Product essentially reflects the

extent of :

(A) primary deficit

(B) fiscal deficit

(C) effective revenue deficit
(D) revenue deficit

Net collection of National Small

Saving Fund is invested in :

(A) Shares of Public Sector

Undertakings

(B) Government Bonds

(C) Central and State Governments

Securities

(D) Venture Capital Bonds

29.

30.
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TS SN TR hoick HEGer= FHI0l

ST TRY T TR IRl gH7

A TR Howd:

HL.

(A) gt &

(B) USRI e

(C) 9wl Hegell I

(D) Hegell 2

T eAcqerad Hefidia fedes st
Tafaet Sd

(A) HraSIh STHHTAI -

qSTATHEY
(B) T&” &AW
(C) =g enfor Tsaren gfaydd

(D) wedl vigaa Heme
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31. In a two-country two-good model, 81. T <R SAMOT S o= Wfqwres ‘o'
, Q¥ HH TYE ® 9 ‘¥ W Wigad
country A is labour abundant and .

YU AR, ‘&' o] Wigad UUM IR
country B is capital abundant. Good W ‘A TE AN TEH I Eretere
X is capital-intensive and good Y is FOG fouH sReR 3T ?
labour-intensive. Which of the (A) ‘31 29 ‘e’ = I w9 ‘T’
following is correct ? = fea

A . (B) ‘s’ 3w ‘g1’ &t fralq s 9 A
(A) imports X and exports Y
P P = A HLl
(B) A eXpOI'tS X and impOI‘tS Y (C) ‘a’ é's-l‘ ‘&'{’ %ﬁ' 3T —QF{T.h' g9 ‘-q’
(C) B imports X and exports Y kil

(D) ‘31’ <w ‘&’ onfon ‘=" = Sl gt

(D) A exports both X and Y - f
32. Intra-industry trade is ............
y 32. W‘h W %‘Uﬁ ..............
(A) Trade between two industries in
(A) <RI € SENTHE A SAMIR

a country
(B) Trade within an industry in a (B) TRIIeT T SEMIICT SR

country (C) 3F fy= <wndia S e
(C) Trade between two industries in IR

two different countries ) . )

(D) <H WML = JeTie =

(D) Trade between two countries of
EZIRIES
goods in the same industry
15 [P.T.O.



33.

34.

Both the merchandise trade account
and the current account are in deficit
in a country, but the deficit in the
trade account is larger than that in
the current account. This implies
that :

(A) Capital accounts (excluding the
changes in reserves) is in

surplus

(B) Capital accounts (excluding the
changes in reserves) is in

deficit
©)

Invisibles account (including

transfer payments) is in

surplus

(D) Invisibles account (including

transfer payments) is in

deficit

In a partial equilibrium analysis,
tariff is imposed on a good that is
being imported. Which of the

following is true ?

(A) Consumer surplus increases
(B) Consumer surplus decreases
(C) Producer surplus decreases

(D) Tax revenue decreases

33.

34.

DEC-11213/11

Ueh! QUMAT offeld el S&MUR o =]

@d ® QI e Ieifada, Wy o]

SR q & =] Were’ia Jeraar
sfYer oTg, AEEA o8 gfed dd h

(A) T fAeftdia I aiTesd Wigde]
T el R

(B) TEta fAeftdic et afTesd Wig e
T e TR

(C) TEARA U FHISE STHe STGT

T e R

(D) TEARA ST FHITSE STHeTA STGT

ord g 3T

3TYM: FHAIATAd A T

HATHRAT Il WeATAdeh! hiva faam

| 3 ?

(A) SUHFRITE G aed
(B) YA HArSIiYe wed
(C) SUEehT= HATOIEer wed
(D) T HEYA Hd

16
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35. Which of the following denotes an | 35. 3TIfef®s THTTHIHIOTE dTed FHTIT
increasing order of economic ETeerde SIvTe gaia @ vifae
integration ? (CU : Customs Union, SR ? (CU = e gfH, EU =
EU : Economic Union, FTA : Free - o, FTA\: % e uf,
Trade Area, PTA : Preferential N .

PTA = TRRfaa dg oiEwe)
Trade Arrangement) :
(A) FTA—PTA_CU_EU (A) FTA—PTA—CU—EU
(B) PTA—FTA—EU—CU (B) PTA—FTA—EU—CU
(C) PTA—FTA—CU—EU (C) PTA—FTA—CU—EU
(D) FTA—CU—PTA—EU (D) FTA—CU—PTA—EU
36. The Brettonwoods system is best | g¢ foretaed el g Fquig
described as a system of : -
(A) Fixed exchange rates
(A) fer fafma T
(B) Pegged exchange rates
. (B) T Secial fafma ST
(C) Adjustably pegged exchange
rates (C) FHEITSIA feresed Seretal fafaa X
(D) Flexible exchange rates (D) g fafqmg <

37. In 2012-13, India’s current account | g7 g 90192-13 T%% YRAMIE tilcl@llﬂldfld
deficit as a percentage of her GDP qera TA IIMATd  SCATCATSH FHToT
was : e aﬁ.

(A) 1.8 per cent (A) 18 zFh
(B) 2.8 per cent (B) 28 TFh
(C) 3.8 per cent (C) 38 zFh
(D) 4.8 per cent (D) 48 TFh
17 [P.T.O.



39.

40.

the committee headed by

was appointed in India to

make suggestions for correction in

the balance of payments.

(A) 1983, Vijay Kelkar

(B) 1993, P.C. Alexander

(C) 1995, Prakash Tandon

(D) 1993, C. Rangarajan

The gap between GNP and NNP

refers to :

(A)

Consumer expenditure on goods

and services
(B)
(®)
(D)

Indirect tax revenue
Capital depreciation
Direct tax revenue

According to the 2011 census which
is the correct descending order of

population of cities in India ?

(A) Greater Mumbai, New Delhi,

Kolkata, Chennai

(B) Greater Mumbai, Kolkata, New

Delhi, Chennai

(C) New Delhi,

Kolkata, Chennai

Greater Mumbai,

(D) Greater Mumbai, Chennai, New

Delhi, Kolkata

38.

39.

40.

DEC-11213/11
ATTUSITT  SHIRIUA AT G &I

W@WW

................... ¢H'°¢“ awﬁd@|m| -Hﬁ:ﬁ‘ﬁ

fosa et
. STeERet

Yh1T 27

(A) 1983,
(B) 1993,
(C) 1995,

(D) 1993, ©. TR

el TSI 3G o ki TS Scde
A ek

(A) TEeRTEl 9% 9 HAadd T

(B) 3Y@Y U= Heygd
(C) iedaEdd JHN
(D) Y& 9 Hegd

T 2011 =1 RRIOITEIR Alhd&=

(a)

4 B AR N S | B | e B e e
o ?

= = Iy

(A) Je=as, o1 fooell, hictehdl, =18

o~

(B) =S, hictehdl, ot faeed,

e

db

(C) et feeett, JeaE, Hicthdl, =13

(D) Feas, =5, 7t foal!, Sictehal
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41.

42.

(I) In India, certificates of deposits
and commercial papers are
transacted in the money

market.

(IT) Stock exchanges are the part of

money market in India.

What can you say about these

statements ?

(A) Statement (I) is wrong and

statement (II) is correct

(B) Statement (I) is correct and

statement (II) is wrong

(C) Both the statements are wrong

(D) Both the statements are correct

The annual financial statement
presented to both the Houses of

Parliament in India is as per

of the Indian Constitution.
(A) Article 112
(B) Article 268
(C) Article 280

(D) Article 74

41.

42.

DEC-11213/11

(I) YRad I ISR 9 fthene 31Th
fevifere 9 FARIAT TR I SRR

(II) wdrd TR FNR § T SIS

T 9N 3=

o fauHaed = w0 "o ?

(A) fagm (1) I 318 9 faum (1) sl
R

(B) faum (I) sRsR e 9 faum (ID)
I IR

(©) = A fam 9% e
(D) = S Fs SRR e

HRAT T FHGAT 78l HUNEHE Sftich

[ (a o

a4 |

......

IO AT TSTEET=A0

FTER 9T el M.
(A) heH 112
(B) heiH 268
(C) =hetH 280

(D) hetH 74
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43.

44.

45.

The main disadvantage of Wholesale
Price Index (WPI) in India is that
it :

(A) is available only at current

prices
(B)
()
(D)

is published only annually
has become outdated

does not cover the services
sector

According to the Kyoto Protocol, the
emission level of Green House Gases
is to kept at .............. below the 1990
level.

(A) 5.2%
(B) 6.4%
(C) 41%
D) 6.2%

In a class of 8 students mean marks
obtained by students is 13 in
statistical methods and in another
class of 12 students of the same
subject, the mean marks obtained by
them is 8. What is the combined
mean of the marks obtained by the
students of two classes ?

(A) 8
(B) 10
(C) 12
(D) 14

43.

44.

45.

DEC-11213/11

fa o . o ¢ A
HRAIAIT BlSch [ehHd [HQRIIdlel Hed a9

(A) 1 e =] Topwdi=T IUTed STl

(B) o wa INIqA Thal UfAS Bl
(C) T HIcTeTal T 3T

(D) | Gl FATET GHEY hell Sd
BRI

FI HIRTER TRA T8 A=A IS

PV — e YU — 5 it

ST I

(A) 5.2%

(B) 6.4%

C) 4.1%

(D) 6.2%

qifeasht gt a1 fasama 8 fommef

AT Teh! TS foreneaiqn T 13

O U el ST g el 12

formeatar == fomam wad 8 U1 gt

STl o1 Il SFTidiel Tt I Sieiel

g T O fohdt ?

(A) 8

(B) 10
(C) 12

D) 14




46.

47.

48.

In a class of 25 students everyone
has secured 15 marks. What is the
value of standard deviation of

marks ?
(A) Five
(B) Fifteen
(C) Onme
(D) Zero

What is the value of Pearson’s
Coefficient of Skewness for the
distribution having mean value 50,
median value 47 and value of

standard deviation 3 ?
(A) 3

B) 2

) 1

(D) 1.5

Find out standard deviation for the
binomial distribution having n = 49,
p=05:

(A) 1.5
B) 2
) 3
(D) 3.5

46.

47.

48.

DEC-11213/11

25 fo=melt & ST Tant alid Uoieh

fomeaty 15 701 9T shel. A1 9T O

o (aV

yarfurd foree™ qod fodt ?

(A) 9=
(B) dem
(C) Th
D) I3
UE g 50, WERN Hod 47 S
THITU for=ier Jodt 3 3Teeied e

faeTET=n srufadi=n U= oo

I TG ?

(A) 3
B) 2
O 1

D) 1.5

n =49, p = 0.5 T YA 3HAe fgug
foaeomra gwiford fodeor siigE <rel -

(A) 1.5
B) 2
) 3

(D) 3.5
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49.

50.

Regression equation of Y on X is
given as Y = 30 + 0.4 X whereas
regression equation of X on Y is
given as X = 60 + 0.9 Y. What is
the value of correlation coefficient

between X and Y ?
(A) 0.6
(B) 0.9
(C) 0.36
(D) 0.4

In order to verify statistical
significance of ‘B’ in linear regression
equation Y = o + fX,. Which of the

following is used ?
(A) F-test
(B) Chi-square test
(C) z-test

(D) t-test

49.

50.

DEC-11213/11

Y @ X ° 9fquwmma gHtes
Y =30+04X 39 XA Y
o YfarET 9@ X = 60 + 09 Y

T AR X 3o Y Iamdd geEey

A M B o
(A) 0.6
(B) 0.9
(C) 0.36
D) 0.4

Y = o+ BX 1 TF HIAHTHT FHIHLO I

B =N oAl Hifeshial Ai&ioftardl Tediost

T ST ETeicTueh]  ShTuTc

o | e ) A e e

(A) F-=m=off

(B) S-SR <=
(C) z-=T=ont

(D) ¢-=T=ont
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